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Exercises

Answer the following questions: :{t{.‘fSl| LSH e u.c-l Q)
Comed) J25 5 (V)
i S e i b S(Y)
P35 55001 S5 i O ) A3 Y ()
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Poasallallad s Ju3adll 5L 23 (1)
©sl¥IS § EJ 35 (0)
4 il (1)
O S E DA 3};;;5\ < J}m (t2) e (3 237 ELog)
u,b L.m m&.,i&awu,
(05 S5b) ehasd a5 S Ar 2 ) 1 ppuale S &£ (1)
(O84 G b) ik Eos 5 el e Ezls ww(u)
e i dﬁ#—“
i A 0SB o g () ek i u«
MJ’U’@@J S 5 S BB (53T W LA a8 o
Jmuﬁfﬂ‘&‘wcu%uﬂa(w‘)u w‘w‘rj A ol
Y
‘Ou,u,b(b)u bz;fw\md»vj J i L
MJ»@MJ‘&;}J
duwwts;u,b(u)u uwu
&:@Jwgu@‘
-mw@@\&www(mw‘ Y1 :J k5
@M‘J‘wu&“d# (Co) bd Ll das Ssidps Los
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e call e 8 2ol ik

555 aglis 5 cQtsz;jnjoujm;iéL;; 35 e 3Bl 1 SoLadll (1)
e shS Cadi Z2hi abL 5 ekl )%J‘Jfbfb

-dﬁ}w oo S ( sy cps JS) ¢JL°-1§5‘ La
LA myu,f@ mywb ﬁcw(v)
i&ubujk.lﬁw(%y)

(M8) Ld ¢ 2o VA S o355 a5Lal 2l ()
,_'};ﬁﬂf’;u
\J‘M@u& Ly SAA(€)

a,{,i)u;.{éfjgiftj b5 ol 455
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Exercises

Point out the zurdf occurring in the main |esson, and speC|fy whether they
are zurdf al-zaman or zurdf al-makan:

2 .
skl B3l o a3 L g 521 (V)

Point out the mabni zurdf occurring in the main lesson:
gﬂ!wwbuwucm 2l (V)
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Point out in the main lesson words that are functioning as zurdf: !

S L QIS LT 55k e (g

Point out zurdf in the following sentences, and specify whether they are
zurdf al-zaman or zurdf al-makéan:

.&u&@f.d‘:\ipjgjnﬂ;(r)ia,i;ﬁ\(\)
ml Is VM‘@@PJ\ urf(V)

i' |Qgﬁ§%09l

i Ii[ ‘IZ' \%S ;;"D‘D‘ ..X_>-\ J‘J_j Y ¢ g_,:o- u_% (2)
SR s 3 (1) e L gy i (o)

(A) Susb E52o (V) 93335 T amndll ) En
Colela S35 6T 20 LT (4) J,U\sz
Colall oda i Sy

ALY Loy SIOLY | b oIl ple 3l G5 e (O)

Point out zurtf in the following ayat, and specify whether they are zurdf al-
zaman or zurdf al-makan:

(V1 i) 66550 2Lk 2461 1521550 (1)

(1 L) 151 e (38 53 ()

(0 25) 4565 (38 $325 31 55 06 (7)

(e oledd) %@@iﬁ 13&;*256,:6 Gd (¢)
(Viuw‘)%imr_{»y;wwwrpr,ﬂy%(0) |
B3l o O Tae Lt s sz,u&, S%ob ()|

]




Give three sentences in each of which a number functions as a zarf:

5kl 8 DU 5,La] ol Lo bamly JS 6555 o S Sl (V)
Give three sentences in each of which a demonstrative pronoun functions as a
zatf.

- ., T2 o

Bhdd iz 8 ob Le 3k s J31 (A)

Use each of the following zurdf in a sentence:
EICIRCNE P NGRS RS R N BERREI o
S () (Ul 3 BN gl J1 SB LTEEE ) 51 3535
AT Ay 5 e p el
(1)
(AW AL L3R A (1)

.i\;;z}u (Y)

S 5 s i s B3R

JQNCIREIPEX G T Bt ([ P #L L o §
/ S

CiSIER Eai ()

el S Ll 5 52 3 el 35380136 ()
(3)) J &9 Ay Ji6

S SR E315 5 () Ly ) O AT 3B b s (1)

B L LAY BT ES 58 ()
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Exercises

£55 o 52 @914;.;‘&‘_;; (3J) J=30(y)

Rewrite each of the following sentences using )J :

Loyt [ SIS b (V)

et\n

UL/ alcse (V)

---------------------------------------------

- :/. A - N . o wf 7 -7 3 .
jwﬁin%@a&/%)bw@@b.')-’ U"‘J (V)




o L a3l ST (V)

Complete the following sentences:

iy e o3 ()
il Jl bl cse 8 ()
GSUEW L (9)

Ll G5B by (b2d oW G Wl 050 Ol (e ez 2 () =31 ()
Use J in two sentences. The jawab of the first sentence should be
affirmative and that of the second sentence should be negative:

Ji L,Mvuaw\uéésmra‘&(w))(y)uﬁ (350
(8 ) 555 s 58 e Y1l 2 JUs

AP
General Qu;stions
A Jdll € 5Lad ol ()
Give the ¢,L.2. of each of the following verbs:
ﬂuuwd;xw,»uﬁu@‘y&.‘
::L.\..;a cJUJ‘ 13 o C/JL“ (Y)

Give the singular of ,15; and sl

10




Give the plural of &5+ and j.i:

50 dd s (g)

Give the opposite of %.s:

-, @A o

oM«l&@@bLAw‘}SJ’ﬂ (0)

Use each of the following words in a sentence:

55 S el 5o Ll

Y

; Pomts to Remember :

N\ 7

In this lesson we learn the following:

(1) The zarf (Cs3J1) or the mardl fini (4 Jy242)1).
The zarfis a noun which denotes the time or place of an action, e.g., -

2) S 255 T went out at night/ — U +Ls 3} ié 5Ll I shall travel tomorrow’ —

dﬁy dns g.,«u I slept after you slept.’
This is called zarf alzamén (b3} (255), i.e., adverb of time.

b) )L.o : °: T walked a mile. — il Jie wl:- 'I sat at the headmaster's.” —

AY

- -]

fw S g,..s ‘I slept under a tree.’
This is called zarf al-makan (gli:dl Cs35), i.e. adverb of place.

Some zurif! are mabnl Here are some: w‘ which ends in fathah; uwa‘ which ends in

kasrah; e,.a’- and Ja.e which end in dammah; Ua and s which end in sukn.2

. @rﬁf(f;;jl;il) is plural of zarf.
? Because both these words end in alifwhich is sékin. (24 is actually ©3),

11
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f C\-«"J" gs"‘ ‘When did you go out?’

u-" 2 jvb UJ ‘Where do you study?’

J"‘"a‘ : JM‘ a_&\ + T was not absent yesterday.

ki L 465 Ll ouda db‘ VJ ‘T have never tasted this fruit.

La: La u“‘"‘ ‘Sit here.’

Cix o Cls os e 'Sit where you like!
Here is an example of the i'rdb of mabni zurdf:

In the sentence uwii u&\ V} the word u«.ﬁ is zarfu zaman, it is mabni ending in kasrah,

and is in the place of nasb (u.m Jm &)

In the sentence § 356 55! the word 55l is zarfu makén, it is mabni ending in fathah, and
is in the place of nasb (u_.«.m Jam &)

Words which function as zurdf:

A word may represent a zarf and so take the nasb-ending even though originally it is not a

word denoting time or place. It happens with the following types of words:

a) words like @; (a2 ¢ ] ‘:}; when they have place/time words as their mudaf ilaihi,
€.9,

: )/qul\ J; U};u ‘We travelled the whole day.’

5 s M‘ % g....u ' remained in the hospital for part of a day.

wu @’ dajla.»\ T waited for you fifteen minutes.’

g

e LS (s Clia ‘T walked half a kilometre.

12
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In these sentences the words Ca; S (2~ «JS are manstib because they function as
zurdf. But the actual words denoting time or place or their mudaf ilaihi,
b) the adjective of a zarf after the zarfis omitted, e.g. Do sb Cids- for Do gb 135 ol

' sat for a long time.” In the first sentence S sb is mansiib because it functions as zarf

C) a demonstrative pronoun whose badal is a word denoting time or place, e.g.,

@;&‘Yi TS g_.uo- ' came this week.’ Here Ii& is mabni, and in the place of nasb.

d) numbers representing place/time words, e.g., rbj i j Sl = Eia stayed in
Baghdad four days.’ — ,._» PNy 5 L b,w 'We have gone one hundred kilometres.’ Here i JT
is mans(b because it represents a word denoting time (<-Lf.1) and & L., is mansib because it

represents a word denoting place ( f» LS.

In the same way, the word (.5 ‘how many’ functions as a zarf if it represents a time/place
word, e.g.,

"s_MJ VS ‘How long did you stay?’ or ‘How many (days/hours) did you stay?’

SEEy Vf ‘How many (kilometres) did you walk?’

(2) The particle )5 is used to express an unfulfilled condition in the past, e. 8., u-«\.@.o—‘ jJ
g,»._._i "Had you worked hard you would have passed.’ This means that you did not work

hard, and so did not pass.

Its Arabic name is ¢ LuaY ¢ Ll (o35 which means that this particle signifies that one

thing failed to happen because of another.

As you can see, the sentence is made up of two parts. The second part is called the jawab.

In the above example S is the jawéb.

The jawab takes a /dm. This /&m is mostly omitted if the jawdb is negative, e.q.,
13
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4

u,-»b Lo u‘-’ 2 0 i & ¥ )3 *Had I known that you are sick I would not have been late.
Here are some more examples of ,S

VSJ 2....49 W ,5 ‘Had you heard his story you would have cried.’

{.3:\.31 ! g.bjﬁ.» Lo J..»\ Eosuas ,3 ‘Had you been present yesterday I would not have
complained about you to the headmaster.’

\}.pjd Ul 415‘,3 .wa (la.]a.s‘ lia “This food is rotten. Had the

people eaten it, they would have fallen sick.

EoS St 13 Euly 3 *Had you seen that sight, you would have

cried.
&5 b ol 531 5T 2554 3 *Had I known the trip is today, I would not have been late.

(3) In J.s & the word J..e is mabni. J—e and % becomes mabniwhen the mudaf ilaihi
after them is omitted. We may say, <1J3 J.e Je i | ks uﬁ, ‘wyu oY1 61 am now a
teacher, and was before that a headmaster.” Here s.U.s is the mudaf ilaihi. ‘Before that’
means ‘before being a teacher’” Now when the mudéf ilaihi is mentioned J..e is mu'rab, and
it takes the jarr-ending (-i) after the preposition u"’ But when the mudaf ilaihi is omitted

it becomes mabnij, and we say J...e o | Jsy, 953 which can be translated as ‘and I was a

headmaster earlier’

In the same way we say, U3 SHARY! é'ji (.3, @bl dcldl JI s I 'S 'Bilal was with
me till ten o'clock, but I didn’t see him after that.” If we omit the mudéf ilaihi, we say,

Ao, o

A% Geoo | o3 ‘But I didn't see him later’

In the Qur'an (30:4): 4a5 ua 9 J...a Nl Yl 413 ‘The decision before and after (these events)
is Allah’s.’

14
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€ Laill J) oheddl £l 5L ()
Cagddt 133l U 53 5 ()
Pl gl oy 5550 2 Y‘Jév\j‘u‘ (v)

A gyl Jadl e J4% Jm &Y i (J53)
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La u.,.LxJ P & JLE

-~ P
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Exercises

Y Y gl;:iéfqﬂjﬁtg Lz 2t ()
Find out all the instances of ,o’W 6‘31 oc;urring in the lesson:
S Lty il L Y 522 (1)
In the following sentences point out ,331\ 6\! and vocalize it correctly:
Skl eSS (Y) uwsm‘y%_j, ch‘é‘zw‘uM‘wU(\)
u%ﬁbgﬁ%‘\jﬂ}w1g1wd(\‘) ww,@m,ﬁsu
] de‘.u.ﬂ Ol seld (0) Sy oyl 1 g_JUa JS\J.LJ (¢)

Sleadd & diasdl b oY1 jad (V) 4 EEP JS@..:S (1) .33

JSIL Lkl &5 JuiYl s A5 J531 ()

Add J»gY\ (y to the following verbs and show vowel points:

S i A

y 2 )‘l)’/

..................... MJ P JfQ
17



SN Lass ba Sudawd oo, CL“
_____________________ s L ST
Bd o

............. L_gfm.» ).é.\:

omJa:L,;ﬁ3|r§'J4L«|WuLb(i)

Make five sentences containing ( ,o\!‘ (Y)
o bl Jas 8 A1 (Rl ) S35 51 s
Bl ALl 5 aladl J] 1555 Y Hlss) L Jraill Al Y AL
/ Sl GRS Y DT e Y BT

| Go oS35 2550 Y o Lol sl J35 U (RaW1Y) JE5,

Exercises

8 Lo T L1 Y 335 2591 LY JSEIL L 21 (1)

Read the following examples of (23! Y) and vocalize the verb following it in
each of them:

Lany oSdms s Y () el 281 3 i) (STl o ¥ (1)

18
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d>\,- syl e dol eSO Y (£) 3] ‘>M 3yl drelod] J5 Y (W)

/ P -

::q};:y\ IO xS Y (0)
JLiL BT st Y () eV el
Al Sl oM Gl sl Y (V)
S22V (4) e Bl e Y ()
:J;E&‘@LT&;J@Y(\\).o{Lth,éLngY(\~).MiauT
Bﬂ*&ﬂ\giww‘f)};ﬁ&‘&o(\\’) ,:;,m,iuugm@@‘
2 (1) (@l elsy) e &Y f.u B s Vs

gu;ﬁd‘o)B)B-cNY» dl.e &‘dﬂ)d‘wdj‘w)ojj

(ade Gaw) «oylas
(R0 W1Y) 4 B youne 1,80 3 42l sliae Jub 3L Losd ahez JS oL (¥)
ijfTJ::.u;b

Fill in the blanks with the verbs in the brackets preceded by (i»alJl %) and
vocalize the verbs correctly:

(o) ol B oSl (1)

(F) .&ﬂ\jﬁj}_é@l@@bi..................(\‘)

(593) »‘(}Jl .................. (Y)

(L) Joadl Gl (¢)

() 5V adodl Sy fadll 33T (0)
19
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(o) .yuc‘jw;ﬁu@gu&;‘;gn e (V)

Assladl AeLadl 18 ol dels SOl L (V)

’-“‘l‘:[ (M) u:"""u‘ M .................. (A)
L

j__;_‘ (éf) M‘LS;:C’WU\}‘ (Q)

(L285) &Yl 563 b Sailewl DU (V)

S 3 e Aol (21 Y) J AT B Sla (V)
Give three examples of 4atJ! ¥ used with the third person:
Y cuﬁiw sty S8 d3lendl (1)
(A Aw\)%mwﬁbuﬁ JJWH‘%’ J‘*—"‘Jﬁu’wr’(\)
(Ve Sl é}u@uw&m L il 48 S LS (1)
(£ asl) 42l 5) 5325 Y Il 8 3 S ezl ¥ (1)

(F6 e ol (1 SV BB s 43 5 LS AYIEY (8)




sD,
Exercise

sty Yab 55 Gy@sbbyw,ééuujwp ol Sl

Give four sentences of your composition each containing one of the four eJ ) g

g_.wuj;é;,prﬂ(r@)u (ugéjé}uj;: )
J#S_’Y 2..>’J|J.>J., bJLa)‘\.«.c

wJL;S

Exercises

JS ol (S G il J5 3 I S5 522 ()

Point out i 14> in each of the following sentences, and vocalize it
correctly:

JUE (£) sl 355 (1) SN a1 b (%) LYl g b ()
(V) el oo b SEY () c>=;34€::>°-1(o) Gl ) s
dd 5 wse JB(A) (10 5L2) «%vis w‘ 93] rg“J J63d : L5
& (4) Ner Ly sl eVl By B el L‘S“%&Alf"“ L;;,/\ S IS
RS et all Lo iy alll Loy tlegis il ) ol ol o

(gl ely))

21




Fill in the blanks with the verbs given in the brackets:
(i) s ()
(J) sl Jbs ()
(3o) DS oS s e L2 (¥)
(Z55) Lo Ll oda oo st JU (8)
(Coafd) B i, A g3l (o)
Al A% Sl (1)
Give three examples of .zl o ;2<Ji: /
:gasl JoSTy il 91 LY 13 (¢)

Form &5 from the words given below:
R el
115 : (gL

-]
,
18 st -

22
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u,;j;:;;wwdpuj w&ji&uw (“/*\)W@wwﬁl (o cs )
Ul s
General Exercises

Write the plural of these words: :"’“Sl ULQJS-” =z <k (V)

Write the singular of these words: “’“Nl ;stil 3 e S (Y)
RPN 4.’?‘

Form @Lé» from the following verbs: ”“NI dlasﬂl ¢ > yLlas ul.:b (Y)
SIS L S5 S e i §55 S G

RN PAARCIP:
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oo sssaens S / Sl / SIS b rabiad SIS s (1)

|
LS/ lele / s oyl AT b ) Vet aley) SIBN Jpi (1Y)

I

| Points to Remember

In this lesson we learn the following:

(1) =Y EY: You have already learnt the amr e.g., <=5 ‘write. This form of the amr is
used to command (or request) the second person. To command (or request) the third

person, the form s,.S\J (li-yaktub) is used. It means ‘let him write’ or ‘he should write’

e.g,

-

Byl eda B ] b 5 V.SJ ‘Let every student write his name on this paper’
WG 5 b S 5udac) 'Let every female student sit in her place.
This form is also used with the first person plural, e.g., Jf L (li-na'kul) ‘Let us eat.

The /&m used in this form is called ,=Y! ¢Y. Itis used with the mudér majzam:

o o o o o
A P R R A - R - R 2 £
© ..S } © ..fy 7ol - ‘ ..S ..! e ..S ..S ‘ 2l - ‘ ..S ’S S ..S /S
4 Sl ¢ ¢ SNe ¢ 14
. = . - = "/ . P . 5 . u/ . «/ N n/

The ,»YI ¢ has kasrah, but it takes sukdn after >, 5 and o~ eg,

;’ﬁi;}j ;.,.{Lb Jf m.l.a.ﬁ ‘Let every student sit and write.’ (li-yajlis wa I-yaktub Not: wali-
yaktub).

B e i Sl

24




Cfuls 'So let us go out.’ (fa I-nakhruj Not: fa li-nakhruj).

V"J V” )Ue | ,a.J ‘Let us read for sometime, then sleep.’ (li-nagra’ thumma I-nanam. No-

thumma li-nanam).
(2) We have already learnt R;AGJ! Y. Here is an example:

La uwla.. Y "Don't sit here.’ There we have leamt the use of s U! Y with the second

person only. Now we learn its use with the third person, e.g.,
Jadl Fe 351 Cfu ¥ ‘Let no one leave the class’ or "No one should leave the class.
Note the difference between these two sentences:

el >l : G Ja-vu YA taxi does not enter the

university.’ (la tadkhulu).

fu.:qu\ 5 ﬁ-éﬂ : g J’-v\-’ Y A taxi should not enter the university.’ (la tadkhul).

The Y in the first sentence is the :L.eU‘ ¥, and in the second sentence it is the :L@U‘ Y.
The verb after the uU\ Yis ¢ #5+; and after the usU! Yitis r;jé«.;.

(3) g_»lhjb éfd‘ : A mudari preceded by an amror a nahy! is majzim, e.g.,

M.g-ﬂ-* S ,>-| : ¥ o| ,91 ‘Read it again, and you will understand it

FLy J..S, Y ‘Don't be lazy, and you will pass.”

This is called g_,.lja.“: (-fJ‘, i.e., the mudari being majzim because of amr or nahy. The
word ;.iji means ‘demand’ and is used to include both amr and nahy because both of

them signify demand.

t Nahy ((=J1) is the negative amr, e.g. La A= Y ‘Dont sit here

25
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The mudéri* majzim that comes after the amr or the nahy is called ;,1.1:.3\ N pre)

(4) SLJJ’ 13! : This is used to express pain, and it is called 4.’4.31 From Ls«»b ‘my head'’ the
pronoun y&' is omitted and the ending s\ (ah) is added. If one wants to express pain in his

hand, he says:
15 3 (6= : 64 : yad- » yadah).
! is also used to express sorrow. To mourn the loss of JS we say SYSM |5 "Alas for

Bilal!’

(5) We have learnt mudari majziim and we have been introduced there to three of the
four particles that cause jazm in the mudari. These are (’J ; uUi Y and WJ. And we have
learnt the fourth particle in this lesson: ! 6\?. These four particles are called éj\jé-

QLé.iJL Here are some dyat which contain these ¢j13=-:

1) u—*‘-“ﬁ L'L’Jj o ek d J»u pi *Have We not made for him a pair of eyes, and a
tongue and a pair of lips?’ (Qur'an, 90: 8-9).
2) r& o3 B SL‘._;}H J;,u L3 ‘And faith has not yet entered into your hearts’

(Qur‘an, 49: 14).

3) Las 4l o‘ e Y ‘Don't grieve. Surely Allah is with
us’ (Qur‘an, 9:40).

4) ‘}jw; Q‘ o\w\f‘ ,b—--l-e ‘Let man look at his food’
(Quran, 80:24).

(6) o <ol is a verb-noun meaning 'I feel pain.’ Its f&l is a

hidden pronoun representing Hi

26
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Answer the following questions: TPV OF o

(LA s ()

Cenl il Bl AL 31,01 06 b ()

0 ollasll oy A1 2] € 5 31 o5 (1)
LR o G S (1)

Al 3OS sl aa e g JEE
3 ol )

ol Dol gl i Slaey il 13

L5l Sigs Leiy

5555 O 5 gy <3S Foladl S J5E 5,

L g w‘&;w’)ué%;fm;‘ﬁ

EE S NSl s e o,

g (qlge B el boadl Ol 158 Sl

-
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G B gake L3P o el Bl D2l 5,551 (1)

5 (Gl Y1l g1 ) Celb b Dol gndl 5556 S(Y)
i as e e AL Tael= E315 151 (1)
A W LU Wl Sy 13] (<)

29

———4




Exercises

)SSB;LaJLL i Ol 2l G 1305 @bubﬁﬁuiyjbrﬁws( )

Point out b &1 and b i1 14> in each of the following sentences. If the

b ,iJl Ol > has o3, mention the reason:

r&w uﬂpu M\g‘rdm \,.au,uu\ & Lo : s JB (V)

(ki) ‘%w’&” ‘.5” rg"v‘ﬁ vﬁ.»yf | geiials uﬁ‘ﬂ‘ J‘

(Avslmidl) (dil) = o%u,w,@s c,.@{; 358 s JB ()

js/ J\ PEAE g;;gj‘rggdfs/i,;q@;\él ‘;L:T&g& & L JWs JB (V)
’ (4 madl) %C.J\ #y355 oL
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s 0 5 RS 38 5208 e 573 S 0 (5
YV; el 5,;;&:; N ﬁb! 2 B6p s JG (o)
(W) g0 phuan
[ s L 5 4 LIS SR by (1)
= AL ?
\‘J \(,‘; 130 ujl,.\_, Mo u"’j& wﬁtﬁ.&b VM 13 (V)
g 143 “?"3&3 L@Jr.;bu@b'éj
«\’“ L rL” e r“b SN v{»\ a5 1305 (A)
,«a:JKm NI WAL IS WA u,.,a 130» (4)
el JB (V)
i L 35 ﬁwwc./b_wv}b‘
u‘,1¢‘uuW, 515 @6.41&:3@35@)@ (V1)
A e W Wl 655 8 oo 5 (13]) 31 (V)
Use 13! in two sentences of your own without using _» in the Jawéb.
Dl 5550 8 e Joor e 3 (131) Je5T ()

Use 13| in four sentences of your own. The b 2l 14> should be:

S B e i €35 1 elSTs 35 eV S5 ol o3 e 1 535 7
Aegrile Jomnes ¥ g3 1 e Yl
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| Lo Ao Y s ()
' (a) a nominal sentence in the first,
| Al by ()
- (b) an amr in the second,
1Y) £ 2 ol Sl W 35 ()

- (c) a verb with ,e%“ C-Y in the third,

(W Y) o § e Loy lan Sd anl J1 35 (5)
(d) and a nahy in the fourth.

Points to Remember

In this lesson we learn the following:

3] : It is a zarf with a conditional meaning. It is mostly used with a verb in the past

tense, but the meaning is future, e.g.,

;;L:Q\ O Gl s a1, 131 It you see Khalid ask him about the book.”

A.oJ‘ ol jﬁ w Hlass £l 13] "When Ramadéan comes the gates of Paradise are
opened.’

The Arabic word for ‘condition’ is shart (Jojiﬂ). There are two parts in the shart-

construction: the first part is called shart and the second jawdb al-shart (L3 Sl =)

1 The word 13} can be translated with “if’ or ‘when.’




e.g., Olas; il> 151 is shart and stl ;bﬂ w is jawab al-shart.

We have seen earlier that the verb that comes after 13| is mostly madi. Sometimes muds;

is also used. The verb in the jawab al-shart may also be mudari' as we see in the foIIowing

line:
LB SR SN E ]
RSP ) P e 9

‘The soul is desirous (of more) if you allow it to desire,

but if you turn it towards a little, then it is content.’

The jawéab al-shart should take a u in the following

Cases.

1) if it is a nominal sentence, e.g., ébdl_e St 13

O~2 If you work hard success is certain.

-
s -

g,_,Je Ls,u 6& 3Le LS 15]5 *And if My servants

ask you about Me, then surely I am close by’

(Qur'an, 2:186).

2) if the verb in the jawab al-shart is talabi. A talabi

verb is one containing amr, nahy or istifham,! e.qg.
a),ifJ\ A 5e 8 AL ol C31, 13] \If you see Hamid ask him about the time of
departure.’ (amr).

el DR S J...La Aol (if.b-\Jo-b |31 I one of you enters the mosque let

him perform two rak'ahs before he sits down.’ (amr).

2[stithdm ((f gz Y1) is a question, e.g,, ?éalgéi
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'b) %‘)ﬁa wa Jmﬁj\ a5 131If you find the patient

sleeping don’t wake him up.” (nahy).
0) €4 J g5 150 Yo C31, 131 IF T see Bilal what should T tell

him?’ (istifham).

|
::;4:\.5 o from BB ,A\ Now we learn that

. We have already learnt the nasab, e.g.,

" if a word ends in ta’ marbdtah (3)

it is omitted prior to the addition of

the ya'of nasab, e.g., e Jiﬂ (not: ‘_;g,, Ji= i wau
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Answer the following questions: :253/3” %L‘/JS” OF w‘
?g.;;};:i;u L;.muﬂ ())
336 b 0L AR 2 et 5 (7)
€ oyl
L 550 e g
€LY

Samdly 1,201 50

G 193585 Oly 13 285 lan Bl ()

(A elo¥1) 4E3E 5 35 o il ULy (V)

o 3 233{5 JERJCR S 55 i g Lo,uw Lsbe Ly (V)
(Y sl

5ae Lty Blol 301 0 s s 188 38w Lsled lejlad Ll (8)
S lay (i
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Sl
Exercises
9 Juby oo I 088 Jasl et gl et 5 s ()
(5) Sakione Ly
Each of the following examples contains two sentences. Combine them

using 01 and make the necessary changes:

......................................................... J’r"‘/u;“fﬁ” ())

............................................. ol Jo / bl i (Y)

............................... DA Tl bbb JSE (1)

rd
I N

R 25 e (0)

......................................................... .j.éL:f/&.;,éLﬁ(o)
B, SIS/ 3G £ (V)
. sl B4 /1,28 LK (M)
e L A 25 (1)

e S 175 5 RS (V)

e ZeSTY (1Y)
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59 s (V)

e w,su Jady (i S b Jas Obker S Las 5as JS@ (Y)
Wﬂ‘wyﬁ”‘%ﬂ‘ a‘:‘&.g.amm

Each of the following examples contains two sentences. Combine them
using L 2l 515 given in brackets, and make the necessary changes:

() Jai /el o 28T Lot (V)
() .:}ﬁ/:}f\:(\‘)
(L FURPRSICSHVRFE<I (o
() =¥ Y (2)

(&) 3361 /355 (0)
(&) Gl £ G (V)
(L) Lt/ ()
(&) e S /4 J) S (W)
(&) SU Js 7,25 ()

() e i/ i e (1)
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Lo ln oL Q,b Ll Sl ST&;,;qujfm RERGIEES
Al e 5555 01 ()

ez 5015 SNl 15T e L,nnw 5555 ol (v)
SN 5

e o €8 3 s s S 555,31 (1)

QUickad 1555 56 38 8,255 40 oaf a5 13ms o (36) 5 8,5 31 (1)
/ (VY oY)

uf‘ 55 Do G g 5o AU (1) 5 5,7 0 (0)
LG R G e () 5 55T ()
RN R ERAT

S3Lalis 5L ol s ¢yl \35{51;5‘ (V)

\\ \} )
\ N\ Y
A

e 25 O3 i «(D39) < 05 0T (A)
(YA &) :l5 o) alas o o | S RES Ui

P
Py
£ 7

31@&@3&;3:{;‘% oo (WS) 5 jaas ol (9)
(¥Y all) Glas 201 15 WSS o3N1 o sl

i SR 50s celily 55580 15] 201 S 5 Y
-(3%'J>=~”3Laild@ RV
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Exercises

Loty <l o8 31 &Y Ll 3 boadl ol e 2W 530 (V)
Add s to the < !s> wherever necessary in the following sentences
giving in each case your reason for adding:

35535 5 ()
’,;pduw\i)omwsdb)pd\ ﬁu(r)
réf"u”ﬁd-’\“’@u ik K5 G (1)

Tab T SN YAk 55 31 ()

EAD EAS BT 58 Gt (GBI (0)

i e b el s il ub 5

535 3 S JE L (V)

oL U ma2d Y LA S Ba s el S8, G (A)
35 ‘uéputpu,u.fw A1 51(9)
oo S b o §5 01 (1Y)

Sl @iz 2STY SE L (YY)
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7;/\,»...“ A ‘»4.3 ,,}"5(1..5“( x:»\chLu (\Y’)

,{ﬁwuupﬁg;uim.us{;w(\z)

¢ Jgl sl L 5 3l (Vo)
L wyd po .V.Jwgu:;i@g&j;w LVl inalnlly Syt (V1)
/ / 88 Slaaler b ys LS
ol 011 S 5 (V)
RCRFSTANGYY

3531 S5 55 ol (19)

.ij;g,gw{g;;:.;y(tq

A bl bt s o e 03 535 38 cJell JE ()

Combine each pair of these clauses to make a meaningful sentence as
shown in the example:

o See Jams /2l JE0y o1 51,1 e (1)

@‘by‘@*ﬁg gJ’:-sé-” ‘J-Q-J/‘)Lﬂ"y‘dj*-’ Q‘J‘J (Y)
1Sr ey / domacall 5 VI Gl Gl T 311 e (1)

ol sl an Il /YIEE L ST55T e (2)
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B Ol sy Ll
il U
[ A TET PE PR SR E AR
B i i s
. L0 J !
Y

.W;m/&u‘u;xois‘,iy(/\)
i“"’“‘-"’"} Lk-"c@ @LLMMJS&Q‘P}L;&J'} cb)..J‘ o|.>|&:£(\‘“)
B By byl Olsr Eos b gl B bl Eo u.i», b 21 3l

Ao -~

S5l § e Sl
Draw one line under L ,2J1 &1si, two under L% and three under < ls> in the

following examples. If the —! s> has taken 2 explain why it has taken it:
(Y Gl 5550 D Jasg A 65 ez - Jws JB ()

(o JwY) %Q;L‘L: e syl I gﬁﬁol% : Jas JG (1Y)
(VA 5,200 €055 548 158 308 R I 06 ()

G 331 38 A G 1S3 31 o ekl DMl ke JG ()

i\

o s AN 2le 125 i Sl 5ball ade JG (0)

(Mg e 41 593 JoB 5an p5ldly dball ade JG (1)

b i LAk Ly Al {1 i BBl o p3dly B5hall ade JG (V)
Nk b N a3 s o g8 521 lef (AU

sl FLo elliS ol 5 e o T
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L5 Y6 A odd e ST B Sl DLl ade G (A
S Jads {%Su e3dls Al G5 087 G rpdldly 3Ll ade U (9)

' 2 o .
. K \.._,A»..m?_._i

/ - 7

‘,L,(.La@, o tedhdls Sl ade JB (V1)

W‘ &’,U/Jj ‘W&Hdb cbw&w(’jub e/“.

<oyl
el dB (1Y)
YV 2L 4 152 ua_,;;;vﬁ|>¢w
(UL“JJ’*-‘J‘UK’ SST388 ufvuf EXER PR <ty
S Wt sl IS Bl 550 51 8 ol 50 Ul e oo ()

:&;JlrJlj.a:JI
Give ten examples of b & with the following as their <! s>-:
(a) a nominal sentence wl Al (Y)
(b) an amr AN Llb Ses (1Y)
(c) a nahy (&52:.)\) Llla Sas (Y)
(d) an istifhdm ((L@Juw) Cib N (¢)
(e) a verb preceded by lan ( uj) = ¥ e (0)
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(f) a verb preceded by ma néfiyah uU‘ (L) = bs (1)
(g) a verb preceded by saufa (J)}L) = ¢ e (V)
(h) a verb preceded by seen uMJL, U s (N)
(i) a jamid verb TML’,- Su (4)
(j) a verb preceded by gad (23) = bf.u (V)

u'ﬂ -]

e Boz 5 25V b3l oyl 5o 35 S5 ()
j:Use each of the following L &l & pT in a sentence:
NI e R R |

w(;)uwj(ﬂ\g)m (M&gw (.5)

Zz

88 Ol \,&que ozl

Dogin a5 (Lalgazi¥l 05)) ol e (V)

)7'“/

Y\w rfv G G o (¢5) S5 L5 S

] mg\ﬁ,r&,/” A[IRYS
fu”,fw‘@ﬁ;ﬁs};w (1 4S) Gl Ul
(Yed3s,ad) e@_md;u s B E bl i85 o oS h i S A3 5 () =

-~ z -

i, N
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Ei 513 e (8,301 0) Gl U L3540 (algina¥1 0ST) S (V) o
Sl 2ST313315 113 LIS (S/IE s DS i im
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s LolginaVI S
Iz S oS Cedcs s oS
(1 LS Ge 05
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Exercises
45l 35 ] Lod Laalginnd1 25 U35 (V)
Change s lgazwY! V'{ to 4 .zl VS in the following sentences:
¢ ieel VU, rf( V)
U5l S U o5 (Y)
0E5 Al 3S°(Y)

Aalgiind) 35 A Jurdl 3 4, 25 335 (V)
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1
Change & ! Vf to dwlgamw| V§ in the following sentences:

. & *f '%M‘%N‘odbg&:bwwrf(*)

- & __ *;"?’.__
 E s (x
[ : o ) | 'Jj\..,g 9;‘)) VS(“)

. ;ﬁﬁs‘&jwwj;
sl o algina ¥ o e S SR 51 (1)
(9) Logie S0 35181 5501 ke (V)
(D) o () b (502 o J Y6 T o )

S NS o o Y mmy () L (SREY o Cls)

=z

Lt 55083 (O1) = Lpate bl §5Laadl Jadll 55505

wju

Exercises

() e s (o) dag W11 Jlad¥l la2do s &391 Jasdl 1381 ()

-

Specify the meaning of u.» in each of the following sentences, and vocalize
the verb following it:

Lopl 2o 5B31 (V) Sl pin ol 2o Sl JH 4 (V)
i Eomd e asN L o (S0 e N 18 1T (1)

48
%_




r_{b‘w})Y» (MUOM‘WJE)( ) *
<<u..x.o.>-‘ U»Ub ou\J Oud‘j e d.J\ g_,o-‘ uyf‘
&Q}Mpdéﬂ\yzﬁngmwﬁ(‘\)

A Ol Liind w152 e o 535 3 Jdl 5B (1)

Make sentences using 6} on the pattern of the example with the help of
the verb given below:

/,,/ /9

B SH NN
Dsdsas Al Y CEST )L>§I1 W "}@ﬁ‘uﬂ‘ L;M;M

;J}a;.(&)@wqw@(u) _u%lg,’f’u

S L LS e L Ot S
Sl L OLS G AT L ST e la

(V4 Bldl) @ALES 15s5 ‘pu};o:w;ﬁ\&;j
Y LY as (F)
Change the following nouns to ,vw.o nouns:

f s 8 ¥ W

.- . Ld
. S
\‘, - N M




Turn these verbs to ¢ slae:

.................................

e IS

General Exercises

A3V JWdY) ¢ Las obs (V)
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Write the plural of each of thses words: 43| ¢ Lo | ée.w <l (\")

e R LM‘“
Points to Remember

In this lesson we learn the following:

(1) In the previous lesson we have been introduced to shart. We will learn more about it in

this lesson.
Another very important word denoting shart is u‘ It means 'if’, e.q.,

sl g..a.u u‘ 'If you go I will (also) go.” Note that the both the verbs (i.e., in the shart
and the jawab) are majziim. That is why u‘ and its “sisters” (which we will shortly meet)
are called 4s ;> JaJMjl Cf)\jSi, i.e., conditional words which render the verb majzim. Here

are some more examples:

.,

upf,., 14..»L9 Lol Jfb O} 'If you eat rotten food you will fall

sick.”

V.ial.xsl % P f@ Al 19525 51'If you help (the cause of)

Allah He will help you and make your foothold firm’ (Quran,

47:7).

Bl e 58T 22555 ) 5455 Y15 I You do not forgive me and have mercy on me
I shall be among the losers’ (Qur'an, 11:47). Here Y| = Y .
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Here are the other words belonging to ‘V’)L>J! JaJMJ‘ Sl jj:
i) » ‘he who', e.g., s | o o)-> dl-u J"‘"‘-’ u*ﬁ ‘Whoever does an atom'’s weight of good
shall see it’ (Quran, 99:7).

i) U that which, e.g,, 4l 4% 25 e | ey

‘And whatever good you do AII/ah knows it’ (Qur'an, 2:197).

i) gs"" ‘whenever’, e.g., j%u\ Js‘..«.: L,ﬂ ‘Whenever you travel I

will (also) travel.

iv) 5! ‘wherever, e.g., ;o 5SS (31 'Wherever you stay T

will (also) stay.” An extra W is often added to u-" for emphasis,

N eq, 5};3\ (.Sf gy <5 L) *Wherever you may be, death
will overtake you’ (Qur’an, 4:78)!.
¥ ) g:g‘ ‘whichever’, e.qg., ej_w A.SA\ & Jme VM° Lg‘ ‘Whichever dictionary we find in

the bookshop we will buy it.

4 0 A

vi) Lgs ‘Whatever’, e.g., s.ls.k..a.: J& Lugs ‘Whatever you say we believe you.’
The tense of the shart and jawab verbs:

a) Both of them may be mudari', e.g., 35 | 93 yu u‘; ‘And if you return (to attack) we (also)

shall return’ (Qur'an, 8:19). In this case both the verbs should be majzim.

b) Both of them may be madi, but the meaning is future, e.g., Caé (.4.1.2 u‘; ‘And if you
return We shall (also) return? (Qur‘an, 17:8). The madiis mabni, so the conditional words

do not effect any change in them.

! The verb of shart in the dyah is madi. This will be dealt with later in this lesson.
? The meaning is, 'If you return to sins, We shall return to punishment.’




c) The first may be madi, and the second mudéri, e.g., b <J 55 o)>-~\!\ %% dpoe 2
455> 'Whoever desires the harvest of the Hereafter, We give him increase in its harvest’

(Qur'an, 42:20). In this case the second verb is majzim.

P

d) The first may be mudari, and the second médi, e.g., ,a.a bLM&! 4 LL‘,.,\ ).um all V““ 5

y: Q«j (uuu Lo & ‘Whoever stands up (offering salah) on the Night of Qadr with faith and

hope of reward, his past sins will be forgiven him!. In this case the first verb is majzim.

When does the jawab take o7

We have seen in the previous lesson two of the situations in which the jawéb al-shart

should take g} Here are the other situations:

i) If the jawab al-shart is a jdmid? verb, e.qg., 3L» dul_e Uis v 'Whoever deceives us is

not one of us.

ii) If the verb in the jawdb is preceded byv\s e.qg., L‘..L_p b}.e )Le b Ujj;jj lf ka3 "33
‘Whoever obeys Allah and His messenger has indeed achieved a great success’ (Qur'an,

33:71).

! Hadith, reported by Bukhar/ Kitdb al-iman : 25; and al-Nasa”, Kitdb al4mén :22.
2 A jamid verb (deloJ! _}MJ‘) is one which has only one form like <.s . _,...J These verbs have no mudért or amr.
3 Hadith reported by Muslim, Kitdb al-iman: 164.
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iii) If the verb in the jawéb is preceded by the negative b, e.g., Lid s jj-é-” VSJ W
Q.S | 'Whatever may be the circumstances I don't lie.
iv) If the verb in the jawab is preceded by the JJ ;

0.9, 3,5 4l S NI s A 5 U
‘Whoever puts on silk (dress) in this word will not put it

on in the Hereafter.

v) If the verb in the jawéb is preceded by

e.g., 53Lulid 33L.3 ) If you travel, I will (also) travel.

vi) If the verb in the jawéb is preceded by uy e.g., u"’ all! r§- d}—«d 41.& V“”' ol
o u‘ alzs ‘And if you fear poverty Allah will enrich you, if He wills, out of His bounty"

g

(Qurian, 9:28).

vii) If the verb in the jawab is preceded by Rity (asif), e.g., ji u*"-’ ,:u B J...e o A

rd
z 75 7 - -

PP wu\ J.J LSS 3\.25 ‘That whoever kills a human being for other than murder or

Qo

corruption in the earth, it is as if he has killed all mankind’ (Qur‘an, 5:32).

If the jawab al-shart has ;'3, the mudari* verb therein is not majzdm. (See Nos 5, 6 & 8

above). In this case the whole jawab al-shart is said to be in the place of jazm (Jo 2
Sl
(2) We have already learnt the word (5 ‘how many?’ e.g.,

feis LS V'{ ‘How may books you have?’ Here Vf is used to ask a question, so it is
called uL@MY\ (S (the interrogative kam).

! Hadith reported by Bukhdri, Kitab al-Libas :25.




But if I say, e \...>\:5’ oS "It means "How many books you have!” Here T am not dsklng
you a question. I am wondering at the great number of books you have, so it is called &

4.: )»J\ (the predicative kam).
The points in which MWY\ V’S and 4 ,.>J‘ Vf differ from each other.
The tamyiz! of MW\U (.5 is always singular, and it is mansdb.

The tamyiz of eyJ* Vf may be singular or plural. It is majrur. It may be preceded by
> es, e uLf & vf/duu. J Vf/U.u« ulS (.5 It is better to avoid the
construction UM J vf

Each of the two types of VS has its own intonation in speech, and its own punctuation

mark in writing (?, !).

Here are some more examples of cudpd‘ (’5 :
Lol V"” Vf ‘How many stars are there in the
sky!’ ;

A_U\u;b J_S \,H.Lod..lé {SHowmanya

- //

small group has overcome a mighty host with Allah’s

leave!” (Qur'an, 2:249).
(3) u.o- has two meanings:

a) till, e.q,, Qst; > Lo b%l;ﬁ s\> 54 ‘Whoever comes late should not enter till he f

seeks permission.’ R

Here is another example: ;.| f 5L51 'Wait till T get dressed.”

' The tamyiz ( ;2231 is the noun that comes after VS to specify how many it denotes.
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b) so that, e.g, Akl Y o.} S )3T entered (without seeking permission) so that I might

not distract you.

!

]
-

Here is another example: o1 5a)l rgsl 2 & a1 &=l 23311 am studying Arabic so that I
e g

can understand the Qur‘an’.

|
| ﬁ

' The mudéri which comes after s> is mans(b because of a latent ¢/.

(4) <» is a verb-noun meaning ‘take’. It is an amr. This is how it is isndded to the other

. pronouns of the second person:
e Lol Ol LSSl pola

La

\DV’¥

LTLOESIL L il Lok

In the Qur‘an (69:19): uLS \ 523931 Ejbi ‘Take, read my book.’

(5) We have been introduced to the diminutive earlier. Here we learn

more about it. The diminutive has three patterns:

a) k3, e.8., ,.a:) from ,as), Jc= from Jo= (The first letter is followed by u, and the

second by ai, e.g., jabal: jubail).

b) Jw, e.g., ;-é}; from (.’Jljg (The first letter is followed by u, the second by ai and the
third by i, e.g., dirham: duraihim). |

Note that diminutive of &S is =S (kutaiyib) wherein the alifis changed to y4.

-
-




C) Jm:d e.g., (J.ou._e from k)bhe (The first letter is followed by u, the second by a7 ang’
the third by i, e.g., finjan: funaijin). !

(6) ufw wﬂ wﬁa cu§4 these four majziim form of Q}Q may drop the ¢y and become
d» <d‘ «.L cél.j, e.g., L:u d‘ (ijj ‘And I was not an unchaste woman’ (Qur‘an, 19:20).
L._w da (U/j J».e u" WEHES :\.gj ‘And I created you before while you were nothing’
(Qurian, 19:9).
J_Lad‘ Ja <k V’J | ,jlé ‘They said, “We were not among those who perform salah”
(Qur'an, 74:43).
V"J | ,«> da g5 N}-«-’ Qb ‘And if they repent it will be better for them’ (Qur'an 9:74).

NV L 4 4 e u@fﬂvﬁm_uw,
‘Whoever has a bitter sickly mouth finds with it the purest fresr; water bitter’

This optional omission of the ndn, which is the third radical, is peculiar to u J&J o\

(7) In )l@ JJ two nouns have been combined into one. This combined word is mabni, The

same is true of sL.s ~Lo. We say, |

s s A

S J.u—\ 'T work day and night.
£lus Lo Al 2225 "We worship Allah morning

and evening.’

"YY3) should have been JY;J\ without the alif which has
been added for metrical reason. The line is by the famous
poet al-Mutanabbi (915-965 C.E.).
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Exercises
gbuu;w&m @&J!Ml - (V)
ceparate G»BL verbs from L;G\-g  verbs:
185 G J35a 5 i gl ais
@b Lovﬁ .\.s,J| st J:.nJ| S;:Lﬁ.\l 3LJ| Jou! (V)
Separate > 2w $OG verbs from Jujs SO0 verbs:
G e S fe 8 TG0
sy ity G a9 355 (J55) Db sl 20 Jadhl il o (Y)
QigS=08.0¢0=J) 55 G
u"” JL’.ele u.o).\..a.o.)lj c,dlj (&JL&QJ‘ g.MS\ ‘.; (J.u) g:aLJ “’“3‘! 4.1...«5‘! le)

f;

-
rd

Form jiead!l « Y1 and @Lé.«ﬂ from each of the verbs given below:

Y # ol PER]

©E L
’z,
’?[_
+

kil AV WY1 5ol U bw;ﬂidﬂ\&d\)suj'

MM&JF“\N)‘J‘U}Q‘J[”Y‘ ”)LR—«J\;}J;-\ ......
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Form Jel& ol from the verbs given below and then turn them to Jsrie ool
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-
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Ol el iy Jpmiadl 2215 ( Jolil

Read the examples and then point out all the derlvatlves of Jxe occurring

in them:;

v_§31 oda (V) .C 1 S5 uis (e tﬁ{gﬁ,ujif(w) mbp_wy (V)
S G (o) aizian sl £51s £,,0 T (¢) oo d&@}éﬂ
Lt o G315 (V) 0 e Syl GIE ST Gl sy
J S5 (A) .e@«m 2 r@\ys I r,,u pm%o S JB (V)
ey 32 () s G o o (0) o s 8
L G0 51 ol u.>-.,u Jas No0EE (1)) A e J;T

u.t‘(\“) w_lj\_..od“f.n.w @‘G&L(\Y) uLijlfova-up‘f‘

/4
o
Zw A

a0 £33 1da (Y 0) “’}ﬂ\uu\db )L.AH BJLJQJ:‘(\E) le;a.iji

05158 L LY LtV e Ol
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Give the plural of each of these words on the pattern of ales:
B Gl RS
@5&431:@&!@7;»& C“"/w yu(Ja.e)JMS.J\ ubj‘uﬁ(/\)
ST

Give the plural of each of these nouns on the pattern of S

d.‘j.b ‘u\ A;J.C« .0) g .ojf.a

(J’-ﬁ) 033 e

Form ,-.zs from each of the following verbs on the pattern of J»

el pladl W el pladdl U

-

,u"_'?/ /:n/ a a° . PR
C:-..JL: c& ............ uﬂ)J.i w‘)}
3 £ o e
af- P p . ~ - _
............ JAL’“ J.A‘ Uﬁ s.Jfﬂ
Py P ’q,d“/ //:
............ L~ /XIS Je Je3
2.
A P
¥ J® e vs vewa o s

L9 JUH olan Slo (JUa3) 055 o 385 (e PL) S (S2) (V)
(JW8) 035 o
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Form j-ues from sach of the verbs given betow on the pattern of Jlss:

3 ,_,\,x_l;é_é.%,“ 2;) Lé—.&-“ 1 ?f-i’ ‘-@j‘ ‘)z.-l,ﬁ,-.-/.é_.«.r..;” ((*H J L,/:?-..“ (-—3‘;:#9 \-‘;J‘
............ ;s Lo o qF
p g Lo p o2 pld .!
u;a..lﬂ S/F;d ............ < 9 _;:t -l
. Ar T |
........... Lsﬂ-u-d Lja-b*' e se e s b se uﬂu—ﬂ—'“ uﬂb

Write the plural of: j £S5 ?(J}SE;) éo L (VY
Use yJw in your sentence: Al b (54%) J::l (\Y)

Points to Remember

In this lesson we learn the following:

(1) We have already learnt that most Arabic verbs are made up of three letters which
are called radicals, e.g., — ,» (k= «Z2S". A verb consisting of three radicals is called a
thuléthiverb ( S Jaill).

There are, however, certain verbs which consist of four radicals, e.g., @
by

B / - H
= 'he translated’, <5 *he said bismillahir-+ahménir-rahim’, J 35 \;..

A verb consisting of four radicals is called a rub4'verb (uf—bﬂ Sty

%

‘*he walked fast’.

A verb in Arabic may be either mujarrad (35531) or mazid (3 ;<J1).




1 a) A mujarrad verb has only three letters if it is thulathi, and only four letters if it is
rubd', and no extra letters have been added to them in order to modify the meaning,

e.g., V’L'" (salima) ‘he was safe’, J)) (zalzala) ‘he shook (it) violently.’

b) In a mazid verb one or more letters have been added to the radicals in order to

modify the meaning., e.g.,

a thuléthi verb: from slw (salima):

(Z.LZ sallama ‘he saved. Here the second radical has been doubled.
QLL salama ‘he made peace.’ Here an alif has been added after the first radical.

w

125 tasallama ‘he received’. Here a t4” has been added before the first radical, and the

second radical has been doubled.

rl«\" aslamat ‘he became Muslim’. Here a hamzah has been added before the first

radical.

(;l.f«“.i‘ istaslama ‘he surrendered’. Here three letters (hamzah, sin and t&) have been

added before the first radical.

A rubd'i verb: from J)) zalzala:

d)f tazalzala ‘it shook violently?” Here a t4' has been added before the first radical.
Each of these modified forms is called a b4b (—W!).

Abwéb of the mujarrad verb:

There are six groups of the mujarrad verb of which we have already learnt. ‘

1 T use this sign (?) to represent the hamzah (‘) at the beginning of a word because the sign (") is too small.

a Ze.g, J);_J w;")"Y\ m‘ J,b ‘Allah shook the earth violently, and it shook.

L ——




" ” ._‘: |
Each of these groups is also called bdb in Arabic, and its plural is abwab (<15 ¥1). Here arg

the six groups:
i) a-U group: A% A% (sajada ya-sjudu).
i) a-i group: l> > (jalasa ya-jlisu).

iii) a-a group: C”” C‘E (fataha ya-ftahu).

iv) i-a group: ﬁsu ﬁ_e (fahima ya-fhamu).

V) u-u group: u,a.s u,e (garuba ya-grubu) ‘to approach, come near

Vi) i-i group: < & 9 (waritha ya-rithu) ‘to inherit’,

(2) We have just been introduced to some of the abwéb of the mazid verb. We will now
learn one of these abwab in some detail. The bab we are going to learn is bdb fa"ala (b

J.w) In this bab the second radical is doubled, e.g.,
Ja (gabbala) ‘he kissed’, u’.ujS (darrasa) ‘he taught’, Jx« (sajjala) ‘he recorded.

The mudari : Let us now learn the mudan' of this bab. As a rule the 1§.53LA2J1 2 ;> takes
dammah if the verb is composed of four letters. As the verb in this bab is made up of four
letters, the 4= L.l (o3> takes dammah. The first radical takes fathah, the second takes

sukdn, the third takes kasrah, and the fourth? takes the case-ending, e.q.,

JJ : }-u (yu-gabbil-u) —Jow J->wj (yu-sajjil-u).

The amr: The amr is formed by dropping the ?}M‘ uf- and the case ending, e.g.,
Jﬂ-‘b J-J (tu-gabbil-u : qabbil) ‘kiss!” — ;;“)“‘-’ ‘> (tu-darris-u : darris) ‘teach!’

' We have already learnt that one of these four lettars g5 Pl «$ is prefixed to the mudari, e.qg., wfu ‘;ffl \_..SJ ‘wi,

Kl

These four letters are called is )Lzl 235> (hurdf al-mudéara'ati).

f B't‘aca.u‘se of the doubling of the second radical, the number of letters in this bab is four. If the verb has four letters, the 35>
=)L has dammah; and if it has three, five or six letters, the ie Lol 355 has fathah,
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The masdar : We have already been introduced to the masdar.

The thuldthi mujarrad verbs do not have any particular pattern
for the masdar. It comes on different patterns, e.g, J..e ‘he
killed": J..e ‘killing’ — =S~ *he wrote, : 1S ‘writing’ — J"" ‘he

entered’: J s> ‘entry’ — <, *he drank’ : &35 \drinking.

-

But in mazid verbs each bab has its own pattern for masdar. The
masdar-pattern of bab fa“ala is J_aw (tafil-un), e.g., J..e : J-_.u (tagbil-
un), kissing —Jaw J"w (tasjil-un) ‘recording’ —JSS o %33/ (tadris-
un), ‘teaching.’

The masdar of a nagis verb, and of a verb wherein the third radical is
hamzah, is on the pattern of Al:ua.: (tafilat-un), e.g., s ‘he named’

: w (tasmiyat-un) ‘naming’ — 61) ‘he educated’ : :_._’J.’ (tarbiyat-

un) ‘education’ — t__n ‘he congratulated’ : :_.._@.’ (tahni‘at-un)

‘congratulation.’

The ism al-{&'il (%Lp/uj\ V:"“\) : We have already learnt the formation of
ism al-3'il from the thulthi mujarrad. Here we learn its formation from
béb fa“ala. Its formed by replacing the {LéjLé.iS\ g.}f with mu- As the 8
ism-al-f4'lis a noun it takes the tanwin e.g.,

J};.u : j:w (yu-sajjil-u : mu-sajjil-un) ‘a tape-recorder’ —

u'“f“ : u.v,u (yu-darris-u : mu-darris-un) ‘a teacher"

The ism al-mafdl (q | gmiod V:“:‘) . In all the abwéb of the mazid the ism al-mafdlis just

like the ism al-f4'il except that the second radical takes fathah instead of kasrah, e.g., ~\l>u




‘he binds (a book)’ : v\lm (mujallid-un) *book-binder’, -«\l>:ﬂ

(mujallad-un) ‘bound’.

> ‘he praises much’ ; s (muhammid-un) ‘one who

praises much’,
Aoses (muhammad-un) ‘one who has been praised much’.

The noun of place and time QLaj'Jb QL(;J\ Ll 1 in all the

abwab of the mazid the noun of place and time is the same as the ism al-maf'l, e.q.,

z
w &

L;La ‘he prays': Lsta.f; (musalla-n) *place of prayer;

(3) We have already learnt certain patterns of the broken plural. Here we learn two more:
a) ilas (f&'alat-un), e.g., 4_..1Ja ‘students’ plural of JJ .

b) J:e (fu'al-un), e.q., C‘“’ ‘copies’ plural of m :

(4) Here we learn two more patterns of the masdar from the thuldthi mujarrad:

[

2) J55 (falun), e.9, £5% (sharh-un) masdar o 5 £ 75 to explain

b) dlas (/78l-un), e.g., uts (ghiyab-un) masdar of C..:u ub ‘to be absent.
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Answer the following questions: sy ALY e S ()

I anm' " POl i o o (1)

I‘

0550 2B 6 (v)

JHEW I ¥ S (Jal) ol 253 /“SLJI Jsil ulyl 5a (V)
Logeli A1 Jd o Sy €Ll o & o(Jabl) oL ) gede

Form @Lm and ,+=» form the verbs given below:

PRWIN) goladd! ol
Jus) Joii Jesl
2 N
.............................. S
.............................. P
.............................. AR
(S5t cakal) B L Sl

A




= -

...............

(S bl Sl (Al 1 iakol) AT

r4

(O3 o) S 5
A WY e 51 is E (Jal) b e Y1 50 Bk 5B (Y)
ALY daeall Go 5391 f Lals 5 gl Lo CoI5 (Jw3b) Aol (Ju3)

- Form ,«3!‘ from the verbs given below:

| Josl e Juusie

........................

........................

........................

........................

.....................

.....................

.....................

.....................




6 o1y J6 o g5l 2

Form J sl ~! from the verbs given below:

L_;pzw

7
g‘-é\

5o oJ sl L3V JLSYI 131 (o)

4..’5’1 Jl.a.sﬁl o J.sl.aJl s C“’ ( )T
Form Je Wl o from the verbs given below: |

............ U’fﬁ UA‘
AT

.............. sl Glel |
p |
.............. t._..-a).'..l &:J}.;‘ |
g s ¢
.............. Al Aol

uLaJJb u&d‘wb cJ.\..a.on cdﬁ.ﬂ-o.”

il o Jolil

Point out the verbs belonging to bab Ja.e‘ and their various derivatives in

the following sentences:

7

-+‘




SN Gl () B0 GUE Vs S T ()
S5 ol Bt (50 S5 () 240 G| S
12y Jusdl gii; u,w‘ o mﬁ" u\,‘s\ E
i e o @»35* (¢) -,;:-éw Sl g
Sy (V) o5l £ S Y (0) AL,
Eolaal Jadl (V) gl LB 5 gl
LT (A) gl Y duss L1 Jaddly (2
21555 Ll f Al Gl (8) s S Sl
:gwdu(n)a@;;uuwnqwm(\.)
(.m, ,>§11 y}t, usu AR .Lm Jo-lis ax Lu\%
.(\A«,_*J\)W_U1‘>I‘M(.jjst§p\ T5eola)
Loz sVl 35 s B S BTER (1Y)
oo BTV (Y 3R %{u\ Sié G5
Jls (1) AN IR ‘.,91 PESTRRIAN]

LAl Bl Jazw of JUo

Il OG

| AlEisy Jabl O JUil o, g 5551 (V)

Point out the verbs belonging to bab Ja.e‘ and their derivatives occurring in
the main lesson:
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LobS el Ealadl zilyadn (s %T
S i 3531 U yeid
JEREN] ailas] ] SUas] 5
L;SL“J“JM‘ dﬁhﬂm Bt Sgniadl U1 U gmiad
AR Gy ) e 1Y 4l.w§'|usw|‘.a JE 56 (A)

Answer the following questions using pronouns as the two J s=s as shown
in the example:

(o) o st COLSI St e (1)

(J5) Cieldl Sl 52 (Y)

(D) i, il ia JUadl 5 (1)

..................... NPT RSYEY

..................... ¢l Sladl 32 (0)

..................... ¢y LS St 52 (1)

/ (5) 4 L9 Ayl Jab (o)
Notice the use of 43 in the following examples: |
|

. Sbedleds 225 Y (Y) %wﬁ&““* ’j-‘)Uj—’g;*‘"LU‘ﬁ%}(\) |
& 53 Ql}""ay‘_f'ﬂb“ (¥) 4.«.:.,\9 o L@l.i‘.u} L@.;)ﬁ ;l.od‘«‘jjj
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5 4 z - z
}5) C:"':".‘” BE Ejg"o“ u" (o) L:{Lb ol )jj g;-?vuJ\ | {:.51. (£) Las,m Z2S

B sl

”»
LA

2 19) (1)

S5 by Ay 3 Ly ol ¥ Y ndn (Ui
Notice the use of &l ! <=’>1 in the following sentences:

‘ (£1 Jou) €551 55591 52350 (1)

' (£0 opeall) 4351 o S5y (1)

(Y _e3l) €551 55531 SNalzp (7)

(Y1 5ty iSizndl 3 6,40 o2 2 A3 (o)

(V1Y ) €Sl 55 o o S a3 Bdlsh (o)

|
; olay) b Loy LI oo % 8535 of alll oo 3 533805 uusdl b (1)
| (5o

sy ol 530 Gl Loy dals c*ﬂ‘ 30 (08) v"?‘ o (g %)
'u‘:’f“

r'd

() paedll) 44 3‘9 (s 5 ('“-’b’ c,.p\,% e 2

| wwb r&,u Jb% S A LS (o) Gl st
(V¥ ol ee dT) %uyl
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:'{\:JSH M‘ u‘l‘ (c«&‘) :}%ST (\\)w

Rewrite the following sentences adding C“”T:

.......................................... Jos 301 (Y)

Sl 3 gl W R SE i;g;:hmins;gﬁ\ (L) oda .(L:{:%{ k)
SR ST L oG 5 AT b ks kel bl Cd el
Lo dion

o el o 1 Bl i S 2l 13] () S50 3355 (5 5 e
oty s 5 SN LS 558G 5T b7EESy laall a2 o alll e 35 A
:J.;..-;J‘ﬁcéﬁ@b(J\)LJS&%{FT{J@W&;%%{&Q&;WZBBQ
s G iz ¢ () OY (pealpl gl G5 ko) e b oSS Y

Write the plural of these words: 459 . LY = <l (1Y)

~ -
g g |

.




\Write the L;pb of u.:b (g’b) ok UL‘” (\Y)
S e 3 3L L dadS g8 551 (V8)

Use each of the following words in a sentence of your own:

ooolBl a3 c«ﬂ‘ )i oY il lak ade SIS
(Lageedl 2aJ1 3 SN

Points to Remember

In this lesson we learn the following:

(1) Bab ?afala (J»‘ <L) : This is another bdb from the abwéb of the mazid. In this
a hamzah is prefixed to the first radical which loses its vowel, e.g., JJ_» (nazala) ‘he
came down': dﬁ‘ (?anzala) ‘he brought down’ — Cf" (kharaja) ‘he went out’ : CJ}‘

(?akhraja) ‘he brought out.’

The mudari The mudéri should have been J ,:\a (yu?anzil-u) but the hamzah along
with its vowel is omitted. So it becomes d J_._: (yunzil-u)'. Note that the {\éjLé.iJ‘ u,:-
has dammah because the verb originally had four letters. (j J_-: is mudari of JJ-’, and
JJ..J is that of dﬁ!)

The amr: Note that the amr is formed from the original form of the mudari', and not
from the existing form. So after omitting the {LéjLé.iS‘ uf and the case-ending form

155 G (tu?anzil-u) we get J ;3 (Panzil).

I yu?anzilu minus ?a=yunzilu.
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The masdar: The masdar of this bab is on the pattern of Jw\ (vifal-un), e.q.,

R

J}J\ J\,;\ ( ?inzal-un) ‘sending down’ — CF\ :C'g;l ( ?ikhraj-un) ‘bringing out” - -

(..L«\ r‘)‘u‘ (?isldm-un) ‘becoming a Muslim’

The ism al-fa'il. As we have seen in bab fa“ala the Z}E«jLa'.iJ\ 2> is replaced with mu,
e.qg., ("\"“” (yuslim-u) ‘*he becomes a Muslim’ : V"L“‘“" (muslim-un) ‘Muslim’ - - u.i«
(yumkin-u) ‘it is possible’ : u§4~0 (mumkin-un) ‘possible’.

The ism al-maf'dl: 1t is just like the ism al-fa'il except that the second radical has
fathah, e.qg., J—w,s (yursil-u) ‘he sends’ : J-w]“ mursil-un) ‘one who sends’ J..«f
(mursal-un) ‘one who has been sent’ - - d.l:u (yughlig-u) ‘he closes’ dl:u

(mughlig-un) ‘one who closes”: a.lm (mughlag-un) ‘closed’.

The noun of place and time (QLoj'Jb RIS Lif) i Itis
the same as the ism al-maf'lli, e.g., ;,a_x.; aEs (?athafa

yuthif-u) ‘to present someone with a curio’ :Ca=s

(muthaf-un) ‘museum’.

Here are some non-salim verbs transferred to this bab:

PN Fola Saadll Jeld il | Jpmaddl g

% — : ] : : - |
el *he made (him) stand. f""’ 3.3\51 V""" "-'Ld' '
54T 'he believed for ‘4!l Sy | SU= for Hlel o s |
&;-?/'ji ‘he made (It) 2 Y] ® ° ® o 2 ) K i
‘ ! for o>
obligatory’ S| TERYIEY Ty |
z.fz A 7 3 .4 a0 e eh |
V"‘ he completed i (\.ul s s
ugJi‘he put down’, k| W) for Wl (L_‘E.Iﬂ‘)éii (dﬂiﬂ) dn.l.a ‘
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(2) The verb J”DT ‘he gave' is from bab ?afala. The mudart is db.u, the masdar is
Jlkel, the amris Ja.d, the ism alf&'il is Laxs, and the ism al-mafil is J‘-"’"

It takes two objects, e.g., isl Y g.a.Jas\ 'I gave Bilal a watch.” In the Qur‘an:
J,)Q\ dL.Z_j_lzé\ Lfl ‘We have indeed given you abundance.’

The objects may be pronouns, e.g., sl v 'Who gave

it to you?’
el 4--:Uas\ ‘The teacher gave it to me.’
(3) #3 means ‘even if’, e.g.,

:LJ/L'o o8 53 SRR 5| ‘Buy this dictionary even if it is

expensive.

= s Ol a1 Attend the examination even if

you are sick.

Ut aziobadl 51y S tda 58 3T will not live in this
house even if you give it to me free.

Note that the verb after 33 is mad.

(4) <l45¥1 Y is a /dm with a fathah prefixed to the
mubtada’ for the sake of emphasis, e.g., jS! i\,U\ ;,dj

| ‘And indeed the remembrance of Allah is the greatest’

(Qur‘an, 29:45).
r-§~"-“‘}5} 1S ia b %a54 Y 'And indeed a
believing slave girl is better than a mushrikah even though she might be pleasing to
you' (Qur‘an, 2:221).
84
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This lam is not to be confused with the preposition < which has a kasrah, but takes 3
fathah when prefixed to a pronoun, e.g., a3\ L 2l (4. The < 1Y »Y¥ does not change

the ending of the mubtada’

(5) The verb .5l is a sister of 5. It means ‘to become

in the morning/, e.g., L.mf Sol C“"‘ ‘Hamid fell

ill in the morning.’ Here Jel> is the ism of Cwa! e_ | o
and La » is the khabar. And in Ua.w RIEEAR - gl N

became active in the morning’ the pronoun < is

the ism.

It is also used in the sense of just ‘*he became’ without reference to
the timing, e.g., bb:—‘ s Wb v.i,jb e o ‘He
united your hearts, and you became brothers by His grace’

(Qurian, 3:103).

(6) Jw;‘ is a sister of dlf Its mudari is J.« 5. It means
‘he is about to..., e.q,,

55Vl 3 233 ] Iyt s 51 SIall L5 “The students
are about to return to their countries in the holidays'. Here
u‘)’\hﬂ is its ism, and the masdar muawwal (152> » 5)

is the khabar. Its khabar is always a masdar mu‘awwal,

- 2

L.e., O+ the mudéri. Here is another example : ol &l

éjjﬁ‘ Tam about to get married.’ Here its ism is the damir mustatir (hidden pronoun) Ul in

the verb <L ,f.
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(7) L ,N Ladu 5. Here the word U is an adjective meaning ‘some’ or ‘certain’. Ls ,»Y

means ‘for some reason.’ Here are some more examples: L L’\.SGL:»\ ‘Give me some

s e

-
.
-

book.” - - L \S& & stié‘j T have seen him somewhere.’ — s (% FYRRT I ("@""“" “You will

understand this some day.’

This L is called 4.‘..@,@.3\ H] o,(J‘ L ‘the completely indefinite
and vague ma".

(8) The alif of :,s! is omitted in writing also if it is
between the names of the son and the father, e.g.,
s & 1> *Muhammad son of William.’ This

omission is subject to the following two conditions:

a) the father’s name should not be preceded by any title. If it is preceded by a title, the alif
should be retained, e.g., s ’p ‘el *Hasan son of ‘Ali} but ‘s ruy‘ pl e

b) all the three words should be in the same line, e.g., 431 53 JLs-. I they are in
different lines, the alifis not be omitted, e.g., 4=

A g3l 2l
Note that the word preceding ! loses its tanwin, e.g., 4> o I (Bilédl-u bn-u Hamid-

in), not el 5 I (Bildl-un bn-u Hamid-in)




Lesson

7

S

POl b fadl Cass 250

i J.«.u\.g.b-.b\ muwwwsl wfw: oy

Lgikal @;Su.tgiuj‘y G4 L

wﬁmw‘, M‘dww@ﬁw(&,wv&ﬁi Vgl 53
WAY" wwgﬁ%‘g‘g.\e 'y

Sedylobdy s, fae |

(5yedtialed J50)

3‘ r:.l_; :éﬁif.:)&g&;@)aj (\@J)L&AJMJY‘ dJW@JJ"Ls" ij.liﬂ
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L;Mw\ s b e S8 L 2adi sl \ggjoiigj,u;u; oyl
S g

IShell 555 553 Y; ww‘ﬁyww B3 gjes

uﬁ mdu\wdw‘c\f‘w q,ucfb () J5: oo
.owrgia.@sg?‘&b\ (L) 2y () J\.ch(u);\:.j\g:fj

PUSATRNIPEF S S| LV EH ORREH R AW

Taas letad o 56 2 N ol J a0l i Sl b e
ANl Ca3 Al
SIS Sl b flsa b Lal

PSS LGN IS G sl

<

| o - :JL‘ ‘ ("Z’A‘fl

AT 2N G (Sl rfu» 8 dqwuw‘ﬁ\,w@in, Gl

Answer the following questions: ""’B‘I 41.“.5” u‘ w| (})
€ ot 0 é,jjmsmu F1BL ()
C\,L.n L LA s ()

Cacise | Cads 5 e ST (V)




O el (3 Ol usekedl b 3L ()

.@‘y}igi,ﬁk;g:u;;)t;;pﬁi :

4_,_<Jt
ol I T35 2oty I pmia uxlsj;:’ Ls:f\M!ZL&JLZJ&T £

2%~

.L@Mcmboﬂwb 4&.@.9)

Jndll 2o ¥ Gyl é{; A 255 e e s S AR YL P
MJ‘,&A_‘JJ\@)U‘

il Ch (1) s
Z585 (7)o I L
U"’“JJ u.o.s» & J6 (2) JSJ‘ ‘.s” ujh» (\‘) Ml UH ﬁjdb

- HOSPITAL

S gt SR ey Uadd 5 mee 505 (c’ﬂﬂ)g}’“’m”(}“‘dﬁ“ Lsuﬁ
CJﬁaJ’&mJ}w 4;‘&9}&}:.0
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ool b A2 (e psm

In the following sentences separate ()'Y from (SHos:

o (¥) Ol eloes () o3l Gl pmtel 7

L ool (0) s Uy 0T, a0 ot (8) 2myLd1

e foaled JU 15T (V) B G (U st (1)

Eu3 () Jatl 66 (A) 3k ek foolos] 4l il DU

G () e B E Y @0 25 (1) LA 1
Ol L2255 (1) JES L (1Y) i

\ Audls oS (Jo Ay ot 1 s 5300 Jadh s

“S’l M‘Y\w
)] O

JWY‘UMUAC‘J:J‘Q}.&}&‘JJJ QWY‘ wwcﬂ‘df(")
Aol LI M\wu ww‘rm,\i,\emqw@g(ﬂ

(<)
3 Ul e Jalall S 3 Ul e it J5 ()
o 21l 65 ol 66 (Y)
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N DI ST PR

T u%w Sl s cr?@‘ Qi,‘l"’ Sl =l d;w Sl szl il Jm 3

ol SIS 5l (s ol Sl (5 (V) ¥
wjm :
Exercises

v a [}

Wardl 35 o LS I Aadl 5 Mogwbmwy&:l(\)
ade (& .:.iJhﬁ.a)JL‘»I”’" 6l

Use each of the following verbs in two sentences: in the first as it is, and in
the second turning it to bab f=s!:

Jradll o el S350 55 Jradll ga e 255 (1)




| - . L e E
Al 3y egn LS I el b pido 3 ol Lea J5 JS 31 (Y)
(Jguugtu@)wmuw

~ 7 rd

Use each of the following verbs in two sentences: in the first as it is, and in
the second after turning it to bab J»s:

C o (Y)
.............................. e O (Y)

.............................. e BB
.............................. e ki (8)

LY Y S bas S Jidr Egie Ges (v)

By what process have the underlined verbs in the following sentences been
rendered transitive?

S JB () &3:».” é&\mh&\o&;‘bcu‘bg}aﬂ‘é$ ()
Q,(V)W@lzduw,yj\ uj@bmuu-ww.\;w‘
Ry \Js\ u,dix&‘y‘mw(z) mfhw qu(@,u\w
ijuﬁ(g},,\ 4_13‘,%» s JB (1) bl Cf“' Sl JJ6 (o
wri-aruwd«og%v : IS JB (V) (VA J=dl) wuwﬂ.inv(juw
A Js3is cw‘ww»ﬁ Sl WITJB (A) (14 06,81 4155 Gl
é{%—gg*—duq‘}iﬂ‘@ 1) ( \*M‘)%yﬂ{:‘o{&ﬂ—ngw—%@
SNy A S A5 (1) $oah nhk ol Aol s
S




(%5\019 = ‘ 9A @‘9 /;\J‘g W\ 9’“ 4"‘9@ _5“"(*’ (J ) <<L‘!J;ﬂ;sy AY9 T
Olanlls dM‘ﬁﬁ‘ U1 Jf) R um Q(;gm (YY)

e we E53 () AT (1) J"L}”‘((ﬁ)‘) el L@) ol &yl

o a A A

S 4oy las
8 P ,J/‘ ;iifj;‘yb
Bl b e G551 e b lds ol

DT s 1 e b e 5

(S BRI 38 1SS 1 (Y) Tt s ST Syl U (1)
Jeml b 8 518 4)) (1) S el
ij_ﬂ‘%se)
.(o'\&).«%@t &wumwm%(\)
(V¥ L) €5, - L2l 5 rﬁd;ﬁjuu;&;ggm;i%(v)
uﬁ,&Jquvbu :plg,;rjgx@m;@fumwm
(Y‘hoj.a..}\)eééu.lé ;@ "
(VY oled)) dag3 e wm&bbuw,uwdbm%(z)
iﬁi%@}\;%ﬁ\@\ﬁ;@ﬁnceiujj\,;és&gdu]@;%(o)
(Y4 had) 450851 Gpe 6,5 Cal)
93
_Q

-
a




oS

Exercises
WY U oy el 5528 (V)
Wb s (il / SEEL / ST yT) cabkn) SIMI D5 (V)
(o /381 51 8 g/ 8S)
(831 a0 el8 Lt (05583 25T ;:ijgg Sl sk (V)
T8 b 32 clanyliny 2.9 )M 5 E355 ()
i AL 1 2830 0 la (JA) S ) Jan
Tesde gl J5=
128 Sk Soib
S i Js
,Q\@db ! #S

= (V)
Gl 35 N5 2 T 4l A 2 1,555 BT 1S Sl S ()
(20 Oone V) gLl 22 5 Jasdl gl i sl
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(VYY CsleY)

(YY Cawse) G151 Calesd (¢)

& o
NP
A .

(V8 L) 358 I8 a3 Lol (2813 (o)
RS20 5l Dl 250 0T 020 53858 JT 34 (S TR 305% (V)
(£45,ad0)
s ossa Al Je QoI LBy il s (5B JE)) (2)
:J i.ll.oi ZLbj
ST IS ST (Y) L GE L SOl S5 ()
SE LSS S () . L Sy L (1)

ISP Lo b JaSUs &G (1) Lt S U0 as S Zhe L ()
JG (O)Lé\j;ib"?;kqbd\o;\.h} jﬁql(z) &L@» S5l Ll B 555,
LA 01 ST WS S ST Al 56 s S
L8 6y (V) .<<¢L§j.11$ki Seslily Sl cpSldls Sl e JB5 (1)
S G 58I oBisd, ULy

TR JOINLY] iw,.\.’uu 4.1.“! 53 (0)

Form examples of ..~ with the help of the given words:
Sl Ly saldl (1)
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Slate LASISII(Y)
356 L/ALsl (W)
5 LA (1)
JUT L5 s slodl 0 I3 (0)
F L ()
O yebend| (g 1/2E3J1 (V)
(11 L) L ELE (G Llal (L) isy W) (V)
Jdll o (5]) G5 Y (BISUI L) sdn 25
S AR 21 R (L)) g5
JLEY Wb (v a) nil Seian Wy
«otb

(VA at) €331 ey sy 537 5 b S 523 iy
e (Sl G Sl A S Ly S (L)
AT o 4 ey o uige 8l Sy (Genige 5o W) 1U i3

] Sy (1S Ej3) Ln (1t S35 3 dlly) (V)

(385 o301) 5 3T ol Jaks $piad B e e () Dl S 3]
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L.;.l; :\.Q.I )—wy‘ AJ.L.H ‘»J\,,Aj ),,.«MW )9.& “9 A‘g‘? é)x) 43 (59 a5
@r»)ﬁ.;woldedw‘}“

r,wuy,uuﬁwds&ol

Use each of the following sentences as aill !5
sl E2 5 ()

S J S (Y) |

3 gd| ug "C“‘) (¥) |
o Ul 2l 553 T L Sz daiil:J 5 (35) A5 G (o) (A
A9 Jagdl e (<) J,J

\\
8 %

Rewrite the following sentences using 6&3?:
Juad 221 ()
S G (D)
A A1 (1)
byl i Y uwsu o Sl 8 s Llad o 5 Al 21 (3)
e 3301 53555 555l o) Y 2] s

Write the w1 ,=! of the sentence (fouuu PNV 51) and answer the

following questions by using the name of the disease mentioned in front of
it in brackets:
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s el o o) Code Ll 3L (1)

(5S5) e Sa 13l e ()
(yais) e S B (F)
(JE&) Cle 3k b ()
Q1P T C g 5l (S Y30 (0)
(§135) oo Cop Bl SUI Y38 (1)
GB3) Calad b ek 3L (V)

Jud¥l Go Saaddl b (JI52) 03 SE s (Ca3) Jhae (SB3) (V)
dw QJ} ‘_f"" 4»3.5"

Form j-.a» from the verbs given below on the pattern of Jw

P
v
- P - <

‘_}ﬁp c-UL: (A cc’u

'«C;;J‘ /Ci.;-» | -J:‘““ﬁ «CJL;;L» <<L§j£>> . «(_9)1:» dras « };_’)J;»

‘b‘ji' "nb‘ J}Lu“ﬁ)}w‘. b.w L;Lé"m_g.a"d&ﬂ {_r,)}—‘d\L,o\yU‘
g 79 c

P - of /
e ; /i Jl:’.‘ ‘ ..
L/ T’_ z 2"
“J . g4 o

&S = __ Sagde oz (3 Sl Lo LS S J5T (1Y)

Use these words in your own sentences:

SN Wil J5E sl Calid
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(Cljb d}@ g_,,.el,dl g;w) ;d 95249 (( ﬂ LLC« C>~).: 4,)‘ 51)3‘ lAg) 41.w> ffh.j

Points to Remember

In this lesson we learn the following: ‘

(1) Verbs are either transitive or intransitive. A transitive verb (g@‘ JS.{:J‘) needs a |
subject which does the action, and an object which is affected by the action, e.g., !
gl Lg-\»J‘ J-.ﬁ "The soldier killed the spy.” Here the soldier did the killing, so the word J
Lgvt_oJ‘ is the f&'il (the subject), and the one affected by the |
killing is the spy. So the word . sw\>J\ is the mafiil bihi (the
object).

Here is another example: 453! (’M‘ e =21 _s= ‘Ibrahim

(peace be on him) built the Ka'bah.

An intransitive verb (e ;M1 Jx&l) needs only a subject which does the action. Its action is
confined to the subject, and does not affect others, e.g.,

Nl . Js ‘The teacher was happy.’ - - <Ml CJP- ‘The students went out.’

The subject of certain verbs affect others but not directly. They do this with the help of |

Prepositions, e.g., \I looked at him’, "We believe in God.” This happens in Arabic also, e.qg.,

-

QM‘ quaj\ de sooedl Coaé"The teacher got angry with the lazy student. '

‘ M‘ SN d&i gy JJL C245 ' took the patient to the hospital’

J->J| Sl ujlm "I looked at the mountain.’

9
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2 Gels i 5E &5 ab "Whoever dislikes my way
is not of me’ (hadith).

el c@wa S plb 51 4,1 want to look into the

syllabus of your school.’
1 ol s J.A..«J‘ & gi.o)‘ ¥ 'I don't like to travel this week.

The object of such a verb is called C’ J...aJ\ f.p d ).a.a_»..“ (indirect object). It is majrdr
because of the preposition, but it is in the place of nasb (s_.w J:u @)

(2) How to make an intransitive verb transitive?

We say in English ‘rise and raise your hand’. Rise is intransitive, and by changing the
pattern of the verb we get raise which is transitive. But this kind of change is very rare
in English. In Arabic it is very common. An intransitive verb can be made transitive by

changing it to:

’//

a) bab fa"ala (J.e) e.g. J% %5 (nazala) *he got down’ : J» (nazzala) *he brought down.’
J.daJ! 35 Jt V"’ @ ,LJ\ o 2T J'S ‘I got down from the car, then I took down the child.’

This process of changing an intransitive verb into a transitive verb by doubling the second

radical is called M‘ (doubling).

b) bab ?afala (J.«.e‘), e.g, u*l" (Jalasa) *he sat”: ‘_;..l>\ (?ajlasa)
*he seated (him)'. ‘_s»bu JA]:J\ w.b-\, ‘Jﬁl\ u:.,aj\ & wb-

‘I sat in the first row and I seated the child by my side.

The hamzah which is prefixed to the verb in bab ?afala is called m\a.J\ o,ua (the transitive

hamzah).

! Note that . 2l s Z£5 means to like a thing, and . A & &5 means to dislike it.
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Certain verbs can be changed to both these abwdb, e.g., JJ.’ d,a and df‘

Most verbs can be changed to either of these. One must learn this from books and

dictionaries.

If a transitive verb is transferred to any of these two abwéb it becomes doubly transitive

14

and takes two objects, e.g.,
uﬂ! A C.235 1 studied Arabic! Here the verb _~»3 has one object, a1,

AR FHITEIY taught you Arabic., Here it has two objects
3 and AL

N J.a.H .\J C’“ ‘The teacher listened to the Qur‘an.

Ol e kel u)k.\a.ﬂ Ca-w‘ ‘The students read out Quran to the
teacher. (Literally, ‘The students made the teacher listen to the Qur'an).
0) ngi (?ard) *he showed’ is bab ?afala from 6‘3 ‘he saw’, It was originally 5‘1 (?ar?a) but
the second hamzah has been omitted. The mudari is S -~ (yuri), and the amr is )i (?ari).

This is how the amr is isndded to the other pronouns of the second person:

e b OLSUl L o Sl b St s gl

- <.

- .

W»uumn.uwj .ét,;ig;m\m&j

(3) We have just seen that when a verb is transferred to bab fa"ala it becomes transitive,

e.g., J; 3 from d ,’ If the verb is already transitive with one object it becomes doubly

transitive with two objects, e.g., )a from 533,

This bab also signifies an extensive or intensive action. In Arabic the first is called ,.&J : f




’ and the second A;JL.J\

a) An extensive action is one done on a large scale, or done repeatedly, e.g., f JrSs) J.J

S5 “The criminal killed a man, but 4-3,41\ Jol ozl 3 *The criminal massacred the

people of the village.

41;31 la 2 )5 I went round this country’, but L )i uéf\“ Oylia 2 5= 1 travelled

extensively all over the world.

g

U E.255 T opened the door, but J gwadll il gl Cecs

LAY
-

'I opened the doors of the classrooms.’
dl J=3 J£ ‘The man counted his money’, but 4l js- I sk
‘The man repeatedly counted his money.’

b) An intensive action is one done thoroughly and with great force, e.g., < $SJI & a8
'I broke the glass), but < 551 <5555 T smashed the glass.’

rd -~

J;:’Ji G a5 T cut the rope’, but M‘ g.,ak.s ‘I cut the rope to pieces.’

Note the extensive action affects a number of objects, or one object a number of times,
whereas an intensive action affects only one object only once but with great force.

(4) u.})ki.‘\ 9 JU means ‘Beware of dogs!’ This is called J.'.A:J (warning).

Note that the noun after the waw is mans(ib. db‘ is for masculine singular. For masculine
plural it is vf Gl for feminine singular <&} and for feminine plural uf Ul

Here is a hadith: CJas1 301 ‘_}fb LSuLmaS\ Jfb W] ub sl Vﬂ"‘ ‘Beware of
jealousy, for jealousy eats up good deeds just as fire eats up the firewood.’

(5) J.»j.»u H L«fl means ‘I am only a teacher’, i.e., I am a teacher, and nothing else. L..,\ is

o‘ plus L. This L is called FHCSIR i.e., the preventive ma, because it prevents ,_)‘ from
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rendering the following noun mansib. We say uLJb JLEYI L] "Actions are judged
only by the intentions.” Here JLs£Y! is marf(* and not mans(b. Unlike u‘ the word Lu‘ is
used in a verbal sentence as well, e.g., u.&a Lﬁl ‘He is only telling a lie."

In the Qur’an (9:18) :f'/-@\ (a}:Jb AL el e Il -l 285 L~| ‘Only those tend the
mosques of Allah who believe in Allah and the Last Day.

(6) 4.U|3 ‘By Allah’ is an oath?. In Arabic it is called ‘,_..4_31 and the statement that follows the
gasam is called jawab al-gasam (V“"'d‘ > ). If the jawab al-gasam commences with a
madi and is affirmative, it should take the emphatic .MJ e.g., | rS o Je 5 Sa) 4131 5 'By Allah,

I was greatly delighted.” If, however, the verb is madi but negative, it does not take the

emphatic particle, e.g., 4:;1 y L 515‘ 5 ‘By Allah, I did not see him.’

(7) The verb u‘*“ is a sister of 5\S". It means ‘he became in the evening), e.g., )>J| w\

Z

L) ‘The weather became fine in the evening.’ Here 5! is its ism, and l.a.hl is its khabar.
(8) luutd el & u‘ ‘T am suffering from severe headache.’
¢35 L b 13k "What are you suffering from, Zainab?’

Note that many words denoting disease are on the pattern of Jl (fu'dl), e.g., C!-té
‘headache’, (Lf) ‘cold’, 3153 ‘vertigo’, Jlai ‘cough’

(9) one of the patterns of the masdar is d&; (fa'al), e.q., uLM ‘going’
from a5 - - C["’ ‘success’ from C’” :

(10) The plural ofé.;,l; is (3 y; and the plural &b is c:La”jL. This is

2 The waw used for oath is a preposition, that is why the noun following it is majrdr. It should not be confused with waw al-atf (udmll sls)
which means ‘and".




called CoJ\ C’f’ (plural of plural). Some nouns have C"’J‘ , €.9.
3 (place) cug.a‘ . O_{La\

5o (bracelet) Ssbwl — &) gl

5 (hand) <5 -4,
The C“"‘H oo mostly has the meaning of the pIuraI But in some cases it has a
different meaning, e.g., -.u‘ means ‘hands’, but :L:\ means ‘favours’ - - & 0 Means
‘houses’, but 6 4 s Means ‘respectable families’.

(11) 33 *he knew’, ‘_;33; *he made (him) know/, i.e., *he informed (him)'.

Vu.&, ] d!jSi L3 ‘And what informed you that he is telling a lie? = ‘How did you come
to know that he is telling a lie?’ In the Qur'an (97: 1-3):

b Call G s LR AL o LG AL L 1531 G5 0 380l s 3L U1 'We have indeed
revealed it on the Night of Decree. An what will inform you what the Night of Decree is.
The Night of Decree is better than a thousand months.’

This expression has been used in the Qur'an about thirteen times.

(2) The meaning of the poetic line:

P
3

b Gy Uly gl B Ul oopras 1

‘I have not seen anything like a good deed: its taste is sweet, and its face is beautiful"

4 The word J..a- should have tanwin, but it has been omitted for metrical reasons.
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